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COMPARING EXPERIMENTAL AND THEORETICAL PROBABILITY
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The theoretical probability of rolling a 2 with a single die is Z However, if you try it, do you

suppose you will roll exactly one 2 in every six trials?
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Suppose that you toss 10 coins at once, repeatedly.
a) How many heads should occur in each toss?
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b) Explain why you will not necessarily see 5 heads every time.
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EXAMPLE Darts Anyone?
A modified dart board has equally spaced sectors containing the numbers 1 through 20.
a) What is the theoretical probability of hitting the numbers 18, 19, or 202
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b) In 75 of the first 80 throws, a dart player hit the numbers 18, 19, or 20. Find the experimenfal
probability of hitting 18, 19, or 20.
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c) Would you expect the experimental probability to approach the theoretical probability if the
number of throws increased? Explain.
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Suppose a couple would like to have three children.

a) Determine the theoretical probability of having two girls and one boy.
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Explain how your answer in part a) can help determine the theoretical probability of having two

boys and cne girl.
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Determine the theoretical probability of having at least one girl.
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Determine the theoretical probability of having three girls.
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Suppose the couple hopes to have a boy first and a girl second. What is the likelihood

(probability) of that happening?
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